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QUESTION 1

A project is in the execution phase. In review, Joe sees that the project will miss the next deadline due to delays in
equipment delivery. Joe has asked the resource manager for additional resources, has been denied, and reminded that
the deadline cannot be missed. Which of the following is the BEST option to meet the deadline? 

A. Crash the schedule 

B. Log the risk in the risk register 

C. He should perform the work needed 

D. Report to the project sponsor that the deadline will be missed 

Correct Answer: A 

 

QUESTION 2

All of the following are characteristics of a project EXCEPT that it: 

A. is managed by consensus. 

B. is a temporary endeavor to create a unique product or service. 

C. is limited by human and financial resources. 

D. adheres to the triple constraint. 

Correct Answer: A 

 

QUESTION 3

Reviewing the results of a control chart, the project manager finds the production samples had results inside both the
upper control limit and the lower control limit. Which of the following is the BEST course of action for the project
manager based on this information? 

A. The project manager should identify potential new production teams to obtain different results. 

B. The project manager should create a report to outline the results for client review and request a more generous range
between limits. 

C. The project manager should stop production until the processes are reviewed in full for identification of flaws. 

D. The project manager should continue following the existing process, including the measuring of samples for tracking. 

Correct Answer: D 

 

QUESTION 4
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There is a high probability of a needed resource becoming unavailable. The project manager determines the impact to
be low; therefore, the MOST likely response to the identified risk is to: 

A. Accept it 

B. Avoid it 

C. Minimize it 

D. Mitigate it 

Correct Answer: A 

 

QUESTION 5

A network diagram is used to organize which of the following? 

A. Critical path 

B. Defects 

C. WBS 

D. Issues 

Correct Answer: A 
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